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                    Objective: Review all Types of Factoring Problems (F.IF.8) 

   

Step I.  Factor Out the Greatest Common Factor: 
1.  Find the GCF. 

2.  Use the distributive property in reverse to “factor out” the GCF:  

    Write the GCF outside a set of parentheses. 

    Inside the parentheses, write what is left when you divide the original terms by the GCF.    

Note: If the GCF is the same as one of the terms of the polynomial, there will be a 1 left inside         

the parentheses. 

3.  If leading coefficient is negative, factor out a common factor with a negative coefficient. 

 

Examples:    6b + 6     4n3-6n2+8n 

 

 

 

 

Step II.  If the expression has 4 terms: 

Factoring by Grouping (4 Terms): 

1. Factor out any common factors from all four terms first. 

2. Look at the first two terms and the last two terms of the polynomial separately. 

3. Factor out the GCF from the first two terms, write a plus sign (or a minus sign if the GCF 

on the last two terms is negative), then factor out the GCF from the last two terms. 

4. You should have the same thing left in both sets of parentheses after you take out the 

GCFs. Factor out this common binomial factor from the two groups. 

 

Examples:    

x2+5x+6  x2 – 5x +6   x2 – 5x – 6     k2  + 5k – 24  

   

 

 

 

 

 

 

 

Factoring a Trinomial of the Form  by Grouping: 

1. Always check for a GCF first! If there is a GCF, factor it out. 

2. Multiply  .a c  

3. Find two numbers that multiply to your answer  a c and add to b. 

4. Rewrite the middle term bx  as   1st # 2nd #x x    

5. Factor the resulting polynomial by grouping. 

6. If there are no numbers that multiply to a c  and add to b, the polynomial is prime.  

 

Example:  5n2  + 16n + 3 
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